MATH 11008 Explorations in Modern Mathematics
Circle one: 9:55 / 12:05

Fall 2014
Dr. Kracht
Name: KE%

Quiz Score: /20

Quiz 3: Version A

No credit for answers without sufficient justification. Use standard mathematical notation correctly.

1. (7 pts) Write out the first ten terms of the Fibonacci Sequence (I, Fy, Fy,

~--:F10)~
1,4,2,%,5 8, 12, 24, 34, 55 .
2. (10 pts) Compute the value of each of the following.
@) i+ Fs+F+F = A+ 245 412 = 2L
(b) 10/, +2F, = Ao (Z)+ 2(&”?
= Lo+ b
= 4L
(c) Fox Fy = (4)(5) ::5
(d) oy = F/(fﬁ = 55
@ Fu = e = 20
2 13§ 309
3. (3 pts) Given that Fiy = 2,178,309 and F33 = 3,524 578, find Fyy ?) 621’; 51}“§
F‘?xl«f«; F@Zfiﬂ Fy3 5 o2 88T

= 5, %02, §6%
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Quiz 3: Version B

No credit for answers without sufficient justification. Use standard mathematical notation correctly.
1. (7 pts) Write out the first ten terms of the Fibonacci Sequence (F1, Fy, F3, ..., Fy).

14 2,2 5, § 13 2¢ 324,55,...

2. (10 pts) Compute the value of each of the following.

@) h+F+F+h = {+2+8+t24 = 33

(b) 15F; + 3F,

wEL

ot
et

15 (2) +2(5)
20 + 24

= 54

(c) Iy xFy = (4)(/57 .:::2?
(d) Fora * F&? = 7L

3. (3 pts) Given that Fyy = 2,178,309 and Fy3 — 3,524,578, find Fy4.

Foy= Pyt 5y,

e

2 1F8 309
2 514 57§
M,,____M

55’02 @9/’?{
5 F02., 687

s}
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Quiz 3: Version C

No credit for answers without sufficient justification. Use standard mathematical notation correctly.

L. (7 pts) Write out the first ten terms of the Fibonacci Sequence (Fy, Fy, Fy, ..., Fip).

1,422,358 1%, 24, 34,55, .

2. (10 pts) Compute the value of each of the following.

@) B+R+F+F =4 424 32+5 = {4

(b) 4ar+107, T 4 (72) + 10( %)

F+1zo
= 3%

© Bxr = ()(2) =2

(d) F2><8 = Fz? ﬁ ?

©orm = Fg = 24

2 17§ 301
3. (3 pts) Given that Fiy = 2,178,309 and Fi3 = 3,524,578, find Fj,. % SZWK
amggr e "#
- 402 66
F’b*{' = }’“gz *WF:?Z

= 5301 §§8F



